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a=2,p=1q9=2 1~4
Bayes Pareto
1000 1 2
1 nm éM,én,élz
i i 6, 8. .
5 0.361 1.045 -0.331 0.726 -0.187 0.264
10 7 0.263 0.667 -0.256 0.358 -0.142 0.211
9 0.195 0.463 -0.175 0.299 -0.108 0.183
10 0.166 0.366 -0.162 0.249 -0.090 0.161
20 14 0.153 0.265 -0.102 0.168 -0.056 0.131
18 0.107 0.178 -0.088 0.126 -0.054 0.102
20 0.098 0.144 -0.056 0.115 -0.029 0.100
40 30 0.064 0.099 -0.055 0.071 -0.023 0.073
35 0.055 0.077 -0.043 0.066 -0.018 0.061
30 0.051 0.092 -0.040 0.079 -0.019 0.066
60 45 0.032 0.054 -0.031 0.048 -0.014 0.051
55 0.028 0.043 -0.022 0.038 -0.009 0.041
2 nm ézl,ézz
n m 821 822

5 0.113 0.808 0.161 0.362

10 7 0.109 0.513 0.132 0.293

9 0.090 0.375 0.118 0.248

10 0.058 0.291 0.104 0.219

20 14 0.054 0.190 0.092 0.173

18 0.051 0.172 0.083 0.143

20 0.055 0.126 0.090 0.130

40 30 0.040 0.086 0.053 0.081

35 0.024 0.068 0.034 0.065

30 0.022 0.088 0.034 0.077

60 45 0.014 0.054 0.032 0.051

55 0.012 0.046 0.026 0.043

a=2,p=1c=2 5 6
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3 nm 8HB,8EB
8HB 853
n m

10 -0.232 0.229 -0.279 0.200
20 14 -0.163 0.167 -0.199 0.145
18 -0.132 0.120 -0.161 0.110
30 -0.074 0.068 -0.115 0.071
60 45 -0.049 0.050 -0.075 0.048
55 -0.036 0.038 -0.050 0.037
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